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PRIMARY PRODUCER BUDGET                                            GAME YEAR 1
	Income
	
	
	
	
	
	Expenses
	
	
	
	

	
	
	
	
	
	
	Food requirement
	
	Food prices
	
	Food expense

	 adjustments
	
	
	=
	$4,000,000 
	 
	20,000
	X
	$
	=
	$

	 
	
	Adjustments
	
	Energy requirement
	
	Energy prices
	
	Energy expense

	 
	 
	 
	X
	%
	 
	900
	x
	$
	=
	$

	
	
	
	
	INCOME
	
	
	
	
	
	EXPENSES

	
	
	
	=
	$
	
	
	
	
	=
	$

	
	
	
	
	
	
	INCOME
	
	EXPENSES
	
	PAYDAY

	
	
	
	
	 
	 
	$
	-
	$
	=
	$




[image: ]
PRIMARY PRODUCER BUDGET                                            GAME YEAR 2
	Income
	
	
	
	
	
	Expenses
	
	
	
	

	
	
	
	
	
	
	Food requirement
	
	Food prices
	
	Food expense

	 adjustments
	
	
	=
	$4,000,000 
	 
	20,000
	X
	$
	=
	$

	 
	
	Adjustments
	
	Energy requirement
	
	Energy prices
	
	Energy expense

	 
	 
	 
	X
	%
	 
	900
	x
	$
	=
	$

	
	
	
	
	INCOME
	
	
	
	
	
	EXPENSES

	
	
	
	=
	$
	
	
	
	
	=
	$

	
	
	
	
	
	
	INCOME
	
	EXPENSES
	
	PAYDAY

	
	
	
	
	 
	 
	$
	-
	$
	=
	$



[image: ]
PRIMARY PRODUCER BUDGET                                            GAME YEAR 3
	Income
	
	
	
	
	
	Expenses
	
	
	
	

	
	
	
	
	
	
	Food requirement
	
	Food prices
	
	Food expense

	 adjustments
	
	
	=
	$4,000,000 
	 
	20,000
	X
	$
	=
	$

	 
	
	Adjustments
	
	Energy requirement
	
	Energy prices
	
	Energy expense

	 
	 
	 
	X
	%
	 
	900
	x
	$
	=
	$

	
	
	
	
	INCOME
	
	
	
	
	
	EXPENSES

	
	
	
	=
	$
	
	
	
	
	=
	$

	
	
	
	
	
	
	INCOME
	
	EXPENSES
	
	PAYDAY

	
	
	
	
	 
	 
	$
	-
	$
	=
	$




[image: ]
PRIMARY PRODUCER BUDGET                                            GAME YEAR 4
	Income
	
	
	
	
	
	Expenses
	
	
	
	

	
	
	
	
	
	
	Food requirement
	
	Food prices
	
	Food expense

	 adjustments
	
	
	=
	$4,000,000 
	 
	20,000
	X
	$
	=
	$

	 
	
	Adjustments
	
	Energy requirement
	
	Energy prices
	
	Energy expense

	 
	 
	 
	X
	%
	 
	900
	x
	$
	=
	$

	
	
	
	
	INCOME
	
	
	
	
	
	EXPENSES

	
	
	
	=
	$
	
	
	
	
	=
	$

	
	
	
	
	
	
	INCOME
	
	EXPENSES
	
	PAYDAY

	
	
	
	
	 
	 
	$
	-
	$
	=
	$



[image: ]
INDUSTRY BUDGET                                            GAME YEAR 1
	Income
	
	
	
	
	
	Expenses
	
	
	
	

	
	
	
	
	
	
	Food requirement
	
	Food prices
	
	Food expense

	 adjustments
	
	
	=
	$3,500,000 
	 
	5,000
	X
	$
	=
	$

	 
	
	Adjustments
	
	Energy requirement
	
	Energy prices
	
	Energy expense

	 
	 
	 
	X
	%
	 
	1,700
	x
	$
	=
	$

	
	
	
	
	INCOME
	
	
	
	
	
	EXPENSES

	
	
	
	=
	$
	
	
	
	
	=
	$

	
	
	
	
	
	
	INCOME
	
	EXPENSES
	
	PAYDAY

	
	
	
	
	 
	 
	$
	-
	$
	=
	$




[image: ]
INDUSTRY BUDGET                                            GAME YEAR 2
	Income
	
	
	
	
	
	Expenses
	
	
	
	

	
	
	
	
	
	
	Food requirement
	
	Food prices
	
	Food expense

	 adjustments
	
	
	=
	$3,500,000 
	 
	5,000
	X
	$
	=
	$

	 
	
	Adjustments
	
	Energy requirement
	
	Energy prices
	
	Energy expense

	 
	 
	 
	X
	%
	 
	1,700
	x
	$
	=
	$

	
	
	
	
	INCOME
	
	
	
	
	
	EXPENSES

	
	
	
	=
	$
	
	
	
	
	=
	$

	
	
	
	
	
	
	INCOME
	
	EXPENSES
	
	PAYDAY

	
	
	
	
	 
	 
	$
	-
	$
	=
	$



[image: ]
INDUSTRY BUDGET                                            GAME YEAR 3
	Income
	
	
	
	
	
	Expenses
	
	
	
	

	
	
	
	
	
	
	Food requirement
	
	Food prices
	
	Food expense

	 adjustments
	
	
	=
	$3,500,000 
	 
	5,000
	X
	$
	=
	$

	 
	
	Adjustments
	
	Energy requirement
	
	Energy prices
	
	Energy expense

	 
	 
	 
	X
	%
	 
	1,700
	x
	$
	=
	$

	
	
	
	
	INCOME
	
	
	
	
	
	EXPENSES

	
	
	
	=
	$
	
	
	
	
	=
	$

	
	
	
	
	
	
	INCOME
	
	EXPENSES
	
	PAYDAY

	
	
	
	
	 
	 
	$
	-
	$
	=
	$




[image: ]
INDUSTRY BUDGET                                            GAME YEAR 4
	Income
	
	
	
	
	
	Expenses
	
	
	
	

	
	
	
	
	
	
	Food requirement
	
	Food prices
	
	Food expense

	 adjustments
	
	
	=
	$3,500,000 
	 
	5,000
	X
	$
	=
	$

	 
	
	Adjustments
	
	Energy requirement
	
	Energy prices
	
	Energy expense

	 
	 
	 
	X
	%
	 
	1,700
	x
	$
	=
	$

	
	
	
	
	INCOME
	
	
	
	
	
	EXPENSES

	
	
	
	=
	$
	
	
	
	
	=
	$

	
	
	
	
	
	
	INCOME
	
	EXPENSES
	
	PAYDAY

	
	
	
	
	 
	 
	$
	-
	$
	=
	$




[image: ]
CITIZENS BUDGET                                            GAME YEAR 1
	Income
	
	
	
	
	
	Expenses
	
	
	
	

	
	
	
	
	
	
	Food requirement
	
	Food prices
	
	Food expense

	 adjustments
	
	
	=
	$9,000,000 
	 
	50,000
	X
	$
	=
	$

	 
	
	Adjustments
	
	Energy requirement
	
	Energy prices
	
	Energy expense

	 
	 
	 
	X
	%
	 
	400
	x
	$
	=
	$

	
	
	
	
	INCOME
	
	
	
	
	
	EXPENSES

	
	
	
	=
	$
	
	
	
	
	=
	$

	
	
	
	
	
	
	INCOME
	
	EXPENSES
	
	PAYDAY

	
	
	
	
	 
	 
	$
	-
	$
	=
	$




[image: ]
CITIZENS BUDGET                                            GAME YEAR 2
	Income
	
	
	
	
	
	Expenses
	
	
	
	

	
	
	
	
	
	
	Food requirement
	
	Food prices
	
	Food expense

	 adjustments
	
	
	=
	$9,000,000 
	 
	50,000
	X
	$
	=
	$

	 
	
	Adjustments
	
	Energy requirement
	
	Energy prices
	
	Energy expense

	 
	 
	 
	X
	%
	 
	400
	x
	$
	=
	$

	
	
	
	
	INCOME
	
	
	
	
	
	EXPENSES

	
	
	
	=
	$
	
	
	
	
	=
	$

	
	
	
	
	
	
	INCOME
	
	EXPENSES
	
	PAYDAY

	
	
	
	
	 
	 
	$
	-
	$
	=
	$



[image: ]
CITIZENS BUDGET                                            GAME YEAR 3
	Income
	
	
	
	
	
	Expenses
	
	
	
	

	
	
	
	
	
	
	Food requirement
	
	Food prices
	
	Food expense

	 adjustments
	
	
	=
	$9,000,000 
	 
	50,000
	X
	$
	=
	$

	 
	
	Adjustments
	
	Energy requirement
	
	Energy prices
	
	Energy expense

	 
	 
	 
	X
	%
	 
	400
	x
	$
	=
	$

	
	
	
	
	INCOME
	
	
	
	
	
	EXPENSES

	
	
	
	=
	$
	
	
	
	
	=
	$

	
	
	
	
	
	
	INCOME
	
	EXPENSES
	
	PAYDAY

	
	
	
	
	 
	 
	$
	-
	$
	=
	$




[image: ]
CITIZENS BUDGET                                            GAME YEAR 4
	Income
	
	
	
	
	
	Expenses
	
	
	
	

	
	
	
	
	
	
	Food requirement
	
	Food prices
	
	Food expense

	 adjustments
	
	
	=
	$9,000,000 
	 
	50,000
	X
	$
	=
	$

	 
	
	Adjustments
	
	Energy requirement
	
	Energy prices
	
	Energy expense

	 
	 
	 
	X
	%
	 
	400
	x
	$
	=
	$

	
	
	
	
	INCOME
	
	
	
	
	
	EXPENSES

	
	
	
	=
	$
	
	
	
	
	=
	$

	
	
	
	
	
	
	INCOME
	
	EXPENSES
	
	PAYDAY

	
	
	
	
	 
	 
	$
	-
	$
	=
	$




[image: ]

NGO BUDGET                                                                            GAME YEAR 1
	Income
	
	
	
	

	 adjustments
	
	
	=
	$400,000 

	 
	
	Adjustments

	 
	 
	 
	X
	%

	
	
	
	
	INCOME

	
	
	
	=
	$

	
	
	
	
	


NGO BUDGET                                                                            GAME YEAR 2
	Income
	
	
	
	

	 adjustments
	
	
	=
	$400,000 

	 
	
	Adjustments

	 
	 
	 
	X
	%

	
	
	
	
	INCOME

	
	
	
	=
	$


NGO BUDGET                                                                            GAME YEAR 3
	Income
	
	
	
	

	 adjustments
	
	
	=
	$400,000 

	 
	
	Adjustments

	 
	 
	 
	X
	%

	
	
	
	
	INCOME

	
	
	
	=
	$


NGO BUDGET                                                                            GAME YEAR 4
	Income
	
	
	
	

	 adjustments
	
	
	=
	$400,000 

	 
	
	Adjustments

	 
	 
	 
	X
	%

	
	
	
	
	INCOME

	
	
	
	=
	$


[image: ]

PLANNERS BUDGET                                                                 GAME YEAR 1
	Income
	
	
	
	

	 adjustments
	
	
	=
	$900,000 

	 
	
	Adjustments

	 
	 
	 
	X
	%

	
	
	
	
	INCOME

	
	
	
	=
	$

	
	
	
	
	


PLANNERS BUDGET                                                                 GAME YEAR 2
	Income
	
	
	
	

	 adjustments
	
	
	=
	$900,000 

	 
	
	Adjustments

	 
	 
	 
	X
	%

	
	
	
	
	INCOME

	
	
	
	=
	$


PLANNERS BUDGET                                                                 GAME YEAR 3
	Income
	
	
	
	

	 adjustments
	
	
	=
	$900,000 

	 
	
	Adjustments

	 
	 
	 
	X
	%

	
	
	
	
	INCOME

	
	
	
	=
	$


PLANNERS BUDGET                                                                GAME YEAR 4
	Income
	
	
	
	

	 adjustments
	
	
	=
	$900,000 

	 
	
	Adjustments

	 
	 
	 
	X
	%

	
	
	
	
	INCOME

	
	
	
	=
	$


[image: ]

BANK BUDGET                                                                            GAME YEAR 1
	Income
	
	
	
	

	 adjustments
	
	
	=
	$1,000,000 

	 
	
	Adjustments

	 
	 
	 
	X
	%

	
	
	
	
	INCOME

	
	
	
	=
	$

	
	
	
	
	


BANK BUDGET                                                                            GAME YEAR 2
	Income
	
	
	
	

	 adjustments
	
	
	=
	$1,000,000 

	 
	
	Adjustments

	 
	 
	 
	X
	%

	
	
	
	
	INCOME

	
	
	
	=
	$


BANK BUDGET                                                                            GAME YEAR 3
	Income
	
	
	
	

	 adjustments
	
	
	=
	$1,000,000

	 
	
	Adjustments

	 
	 
	 
	X
	%

	
	
	
	
	INCOME

	
	
	
	=
	$


BANK BUDGET                                                                            GAME YEAR 4
	Income
	
	
	
	

	 adjustments
	
	
	=
	$1,000,000

	 
	
	Adjustments

	 
	 
	 
	X
	%

	
	
	
	
	INCOME

	
	
	
	=
	$


[image: ]

GOVT BUDGET                                                                            GAME YEAR 1
	Income
	
	
	
	

	 adjustments
	
	
	=
	$1,500,000 

	 
	
	Adjustments

	 
	 
	 
	X
	%

	
	
	
	
	INCOME

	
	
	
	=
	$

	
	
	
	
	


GOVT BUDGET                                                                            GAME YEAR 2
	Income
	
	
	
	

	 adjustments
	
	
	=
	$1,500,000 

	 
	
	Adjustments

	 
	 
	 
	X
	%

	
	
	
	
	INCOME

	
	
	
	=
	$


GOVT BUDGET                                                                            GAME YEAR 3
	Income
	
	
	
	

	 adjustments
	
	
	=
	$1,500,000 

	 
	
	Adjustments

	 
	 
	 
	X
	%

	
	
	
	
	INCOME

	
	
	
	=
	$


GOVT BUDGET                                                                           GAME YEAR 4
	Income
	
	
	
	

	 adjustments
	
	
	=
	$1,500,000 

	 
	
	Adjustments

	 
	 
	 
	X
	%

	
	
	
	
	INCOME

	
	
	
	=
	$
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